Midterm will be o&\'er breck .

= Either \n class oc Qvu\'ws.
RQW\Q_M\DQQ \_Q‘\‘ A be o st -
* A (\e_\oé({on oa A (s o SU\DSQ,'\' R&A*A

\:D( C\lemerxsts Q,\D&A ;. we %*\[ Q‘R\o
\eted to ks
'rSY\ (0‘1\03 QR. o

Ei.’. Svp?ose A=— {\,1,31 . We \AJM'\' o c\escr'\\oz
'\'\’\Q— N_\ 00.3\'.\00 ,,' Qaz b (W\oA ?—\“

2z 3 & R: {C‘(ﬂ( 2D, 3,3,
e D B OY.
2 X /X This example 15 an Q_c(uNalM
X s e
2. ReFlexive: Yok , (aRa) NGt ondtiona'
2 Smmaiic: Yabeh, (aRb =bRa)  (paitiond |
3. Voo fabceh, (@R A bRO= R (o, \bons .




E)gc\m \e A; {\17—(33 . Sup?os( R:’ il

- IS R re} \Qx'(w,?. Tkls [T ‘H».e_ Same as ask:r\D
(,DOQS R Cor\"\‘a‘u\ (\,Q , (’l,‘l) ( ad (3,35; NO\.

‘1o R %mmé\‘rlc? Yes, because Foc ey a b
O(RLD \S S?Rl&{ i S\) (QR\D = \o?\o\\ [N '\‘l\'t -

. IS —R '\TMS‘\‘\"WL?. \eQ$ ( ’Y‘O(‘ \\‘\M. Same Mason,
—_ .~ B

D(b\fmﬁko\ relotion S an quiw»\f.mlﬂsl\lm
Pog Lt A=Z. B aoyinteass a2 | . The.
e relation R"i(&.\o\ Azl (MAA\S

'\S an Qqu'\\l«\%(& M\a'}'\on.




ANY

%0_0%: RQ%\Q\(V@_: I AuA ‘\\'b c\\u\c I\fo\ezl QE«(Mo&A\
M T‘A'\S 'lS qu(\lou‘(n"\' +o C\‘\&.L\Q,\r\ns

‘n\a-q
V\\O bot Thie Lo tae ecause
O=n-0 .

51’“'““3“'"” . Vm\oe.—Zz (aa\obm&s =) \050\(”\«\'5\

Sowos& Az (mod A\
T\/\Qf\ h\ a-b (D& (n‘\'\"wr\\
Then thee s some XeZ, a-b=wn-%

b-e\=-h-y
S  nlb-a. R e S Y

—\-}M‘;V\V\W’U ! Vab,ce 4 ((aa\o(m&b Aoz (modd) =5 0z (meba))

Sopoe. AZB(modA)  and  Tozc (modd
nla- n\b-c
dx a-b= nx | 3\1 B-c= ny
QO\‘L\" (a-b) -\'®*L\ = NRAny = V\(‘Idr\(\

%D Y\\Q"L\ So qic(l»\o&r\\.@




?FOU‘Q_ @\A« S an qu'w«\u(e re,\cc\"wr\

Bt A& | Reftan: aoe2]
EM’S}_L_).LZ_ /A\-‘— Z R={Cal\: ZasSh is vag.

Eﬁi\xg" A = '\'\f( }.e}f £ a\\ \1&5 A “\*xz Cof\{s’\%\ ?&w\c

= E(L"LA: either Ly a~d Ly o P same
\\r\{‘ o ‘Hw\, are ‘?w’ﬂ“e\- z) .

Proo‘Y O'? 3" RQ%‘\QX‘\W-‘- Fo( QW.‘ \'tN.L, L s Q‘\Af‘/\Qj Qﬂu«\. '\"0
oc parelledl to L7

" L o equal fo \sel\S

\\ \\L\\ S.,M...:\Tu_ For ony S\'wo \V\LS L L-z.,

Nl g L \\ -]-LM L"'\\L‘ -
T L\ = or\af\-\

T\/\'\s 'ls Q$SQ,/\+'\0\\\‘1 '\‘l\rc \01 Aqg:'m'\\"\m




—

Irasitiee: “TE | L and Lo|Ls,
Men L 1Ly
/L\ SUWOSL L\\\L‘L, TLM 'H&\'

// L; have ‘\"w_ Same S\o?& m .
: ol

S\o =W € LS Ugoo\ﬂ
/ / ot L, E .
\ OS\: L; ‘?or \ra!"‘(\(a\ \i"‘tsl

/S\o?e 00“

S'Lr\(c )"Lh L"l L'{, L\‘\S "H\@ Sawe 5\0?( as LL.
go L‘s \’\C\S S\OPQ m .
T‘r]ew_ FON‘ L‘ cmk \"s ‘/\m& "hw. Sane &\0?& VA
So L\ \\ L3 . W

CDMMQ,{\‘\'- FO(' QW\,, ‘?oss'\\&e. 5\0?1 meE R v ioo} )
”HN; 50.)( (‘\—'\N.s 5? $\0P& MX ’\S an QQU'\U o&,(\(e_ C.\G.SS .




Ev\e:r.'m_ \: Re‘\\mi\u For eveny e\ NS a, a-q= 0 ad DeZ.

TL‘N-SW‘t aRa.

$1*-3‘d(~" Su,{)?o&t. o) are N«\ nuambers oad Q‘R\.
Then 0-%eZ. Write a-b= n.
Then b-a=-n y which is also an 'tr\'}'lesel*. (The. rasa i
80 b.Rq_ £ oA '\oj\%v 'ts ‘
T?ms\'hw.: su??ost. a.,\o,c ofe. N_p.\ nom\)&rs s"‘*. Q-R\s a&\s?c . = M*‘f
Tlmn o-ve?Z Write a-% =m
ad b- celZ b-c = n.

Then  a-c = @B+ ©-O = man

Wk‘\al\ ;S an 'm"recy.r (T\\Q $QM5$ +wo (n""tobos

.ls an ;n'\'l 3
so ch.ﬁ =

Em'cf\vl" R&M R Qvay \:i\;ﬁra. Ba1Sa=28a » 2(W)
- whidh s even.
Symadei Sb??o\n. abeZ ad BaSh is evn (le aRY)
e 3a+Se=2 Por some neZ.
Tha 3045a= So+3a ~2%4 2«
- W —ox e
2 2v%e) s, 3psSa v even . Se bR .
Tr«_-\s_'\i"n_w.! Su‘,?m ab, e ad 20450 5 eren od BotSc s even.
Tha ZasSec = RasSH+ BprS) @ R .
LebBaeSbo 20 ad BpaSc =2y For some wye2
345 = 1¥+2\(-%
=2k y-UY S even. S SR




